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                  系級:               組別:            組長:          

Given a spatial curve described by time-like parameter as follows：
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Try to answer the following equations: 
（1） Try to transform the time-like into space-like parameter. (
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, where s is arc length ) to get 
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（2） Find the unit tangential vector, normal vector and bi-normal vector of the curve, 
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（3） Please determine the radius of curvature for 
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（4） If 
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, please determine 
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（5） Plot it by using the Mathematica software.
（6） Inverse problem :

Given 
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subject to 
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